
1. Derive the GW energy density power spectrum today, for a generic 
stochastic source:

Exercises lecture three

From the above expression, derive the GW energy density parameter 
today, for modes inside the Hubble scale today but larger than the 
Hubble scale at the generation time, when the GW source lasts less than 
one Hubble time (at the generation time), and the anisotropic stresses are 
otherwise constant. The result is
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Exercises lecture two

2. (OPTIONAL ) 
     
Think about the reason why GW detectors provide the opportunity to 
test the inflationary power spectrum at very small scales, while these 
scales remain inaccessible with the CMB or other cosmological probes


